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Foreword

The National Examinations Council of Tanzania is pleased to issue the Candidates’
Item Response Analysis report (CIRA) in History subject for the Certificate of
Secondary Education Examination (CSEE) that was administered in November 2018.
This report aims at providing feedback to all the concerned stakeholders about the
performance of candidates. It thus looks at the candidates’ learning achievements after
four years of study in their Ordinary Level Secondary Education.

This report sheds light on the reasons that influenced the candidates’ good and/or poor
response in each question. It also gives the reasons for the omission of some of the
questions. It further analyses the reasons for the candidates’ good performance that
include ability to identify the requirements of the questions, adequate knowledge of
the topics from which the questions were derived, good drawing skills and English
language proficiency. Furthermore, the report analyzes the reasons which made some
candidates to perform poorly. The report has revealed that the low performers: had
difficulties in recognizing the demands of the questions, had limited knowledge in the
topics from which the questions were set, lacked good drawing and essay writing
skills and had poor English language proficiency. Likewise, some of the candidates
could not follow the instructions given in some questions. Thus, these challenges led
to weak performance of such candidates in this paper.

Therefore, it is the hope of the National Examinations Council of Tanzania that this
feedback will guide education stakeholders to undertake appropriate measures in
helping the students to acquire the required knowledge and skills that would
ultimately improve candidates’ performance in examinations.

The council would like to express its sincere gratitude to all who participated in
preparation of this report for their invaluable efforts. Also, the council will appreciate
any constructive suggestions and recommendations from teachers, students and other
stakeholders on how to improve future Certificate of Secondary Education

Examination (CSEE) reports.
%

Dr. Charles E Msonde
EXECUTIVE SECRETARY



1.0 INTRODUCTION

This report analyses the performance of the candidates who sat for the Certificate
of Secondary Education Examination (CSEE) in November 2018 in the History
subject. The paper assessed the candidates’ competences according to History
Syllabus for Secondary Schools Form -1V 2010.

The paper consisted of ten (10) questions which were distributed in three (3)
sections: A, B and C. Each of the sections A and B consisted of two compulsory
questions. The questions in both sections carried 10 marks each. Section C
consisted of six (6) optional questions. Each candidate was required to choose
any three (3) questions. Each question in this section carried 20 marks.

A total of 351,693 candidates sat for the CSEE in 2018. Out of these candidates,
200,316 (57.29%) passed the examination. This shows an increase of 1.3
percent, when compared to the 2017 examination results. The number of
candidates who sat for the CSEE 2017 was 309,116 of which 172,216 (55.99%0)
candidates passed.

The requirements of each question and the candidates’ strengths and weaknesses
observed in their responses are presented in this report. Also, statistical
information about the percentage of scores in each group is presented by using
charts. Samples of good and poor responses have been extracted from the
candidates’ scripts and attached to respective places to illustrate the relevancy
and irrelevancy of their responses. This is followed by the analysis of the
candidates’ performance in each topic. Finally, the report provides a conclusion
and some recommendations.

99 ¢e

In this report, the candidates’ performance is categorized as “poor”, “average”,
and “good” if the percentage of performance ranges from 0 to 29 percent (red),
30 to 64 percent (yellow) and 65 to 100 percent (green) in that order. A summary
of the candidates’ performance in each topic is shown in the Appendix.



2.0 ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH QUESTION

2.1 Question 1: Multiple Choice Items

The question consisted of ten (10) multiple choice items, (i) — (X) set from
various topics of the syllabus. The candidates were required to choose the correct
response from the five (5) alternatives given in each item and write its letter
beside the item number. One (1) mark was awarded for each correct answer. The
question was attempted by 351,693 (100%) candidates. The candidates who
scored from O to 2 marks were 11.5 percent, 58.4 percent scored from 3 to 6
marks and 30.1 percent scored from 7 to 10 marks. The analysis reveals that the
performance in this question was good with 88.5 percent scoring from 3 to 10
marks as shown in Figure 1.
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Figure 1 shows average performance of the majority of the candidates.

Item (i) required the candidates to identify the term used for the average
difference of age between parents and their children. The correct response E,
“generation” Was chosen by the candidates who were conversant with dating of
historical processes and events as highlighted in the topic Sources and
Importance of History.

The candidates, who could not identify the correct response in this question,
mostly selected distractor A, “period” or B, ‘“age” since they could not
distinguish period and age from generation. Those candidates were supposed to
understand that period is usually determined by one continuous event or situation
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for example, the period of Portuguese occupation along the East African coast or
the period of German colonization in Tanganyika. On the other hand, age was
supposed to be comprehended as a length of time in the history of mankind
marked by certain achievements or features. For example, during the Stone Age,
man mostly used tools made of stones and had not yet begun to use iron tools.

Other candidates chose distractors C, “family tree” and D, “time line.” Such
candidates failed to differentiate between the duration of time in history and the
methods used to show the order of events. Those candidates were supposed to
understand that a family tree and a time line are the methods used to show the
chronological order of events. In general, such irrelevant responses reveal that the
topic of Sources and Importance of History was not well understood by some of
the candidates.

Item (ii) required the candidates to identify the name of the first creature to walk
in an upright fashion. The correct answer was A, “Homo Erectus.” This was
chosen by the candidates who were familiar with the stages of the Evolution of
Man. On such basis, those candidates were aware of man’s evolutionary process
and his distinct features.

Some candidates wrongly chose alternative B, “Primates.” Such a choice reveals
that the candidates had inadequate understanding of the stages in the evolution of
man hence they failed to identify distinct features of those stages. Those
candidates were supposed to understand that Primates belong to the family of
Apes from which man evolved.

Likewise, some candidates opted for C, “Homo Sapiens” while others opted for
E, “Homo Habilis.” Homo sapiens means “intelligent man” or “thinking man”-
this was the modern man. This was the stage during which man had smaller teeth
and had a bigger brain than Homo erectus. Homo Habilis was the handy man
with ability to make and use pebble tools. Man at this stage scavenged for food.
Therefore, those candidates who opted for such distractors failed to categorize
the stages of the evolution of man with their distinct features.

The candidates who chose alternative D, “Hominids” did not understand the
meaning of both Homo Erectus and Hominids. The candidates were supposed to
understand that Hominids were part of the chain of evolution of man and that
Hominids and humans existed in different eras of the Stone Ages.

Item (iii) required the candidates to identify the scientific method that is used to
determine archaeological findings whose ages are beyond 5,000 years. The
correct response was B, “using carbon 14”. It was chosen by the candidates who
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had adequate knowledge of the sources of historical information. Such candidates
were aware that carbon 14 test is the ideal method applied by the archaeologists
to determine the ages of artifacts that have of 5,000 or more years. The notable
archaeological discoveries of the remains of early man by doctors Louis Leakey
and Mary Leakey who, at Olduvai Gorge in 1959, used carbon 14 to determine
the age (about 1,750,000 years) of Zinjanthropus.

In contrast, those who chose alternative A, “using archives” were less informed
about the sources of history and the methods used to determine ages of historical
artifacts. In that sense, these candidates could not understand the functions of
archives.

Likewise, the candidates who opted for C, “remembering events” did not
understand that, such phrase is the simplest way of determining dates on events
such as famine, war, drought, eclipses, heavy rains, epidemics, marriages, births
deaths and weeding. Alternative D, “using time charts” was chosen by the
candidates who failed to differentiate between the method that is used to
determine the archaeological findings that are beyond 5,000 years and the
methods that are used to show chronological order of events, periods and ages. In
fact, time charts are used to show chronological order of events, periods and
ages. Those candidates portrayed lack of knowledge about methods used to
determine dates of historical events and archaeological findings.

Distractor E, “narration of past events” was chosen by the candidates who failed
to understand that narration of past events has nothing to do with determining the
ages of artifacts but it is one of the types of oral traditions.

Item (iv) required the candidates to identify the achievement of man during the
Middle Stone Age. The correct answer was A, “Discovery of fire.” The majority
of candidates were able to identify the correct answer because the discovery of
fire was the most notable and popular event that took place in the Middle Stone
Age. Therefore, it was easier for the candidates to recall.

Candidates who opted for B, “Development of Bi-pedalism” totally lacked
knowledge of the Stone Ages and the Evolution of Man. Bi-pedalism is a stage in
the evolution of man when the Homo-Erectus emerged and this stage took place
during the Early Stone Age. Therefore the candidates were not able to specify the
achievements of man in their respective time. The candidates were supposed to
understand that Bi-pedalism was associated with physical features while the
question demanded the candidates to identify the achievement of man during the
Middle Stone Age.



The candidates who opted for C, “Domestication of animals” or D, “Making and
using pebble tools” were not aware of various achievements of man in different
Stone Ages. Man started to domesticate animals and crops during the Late (New)
Stone Age while the making and using of pebble tools took place during the
Early (Old) Stone Age.

Those candidates who chose distractor E, “Discovery of iron” had no knowledge
of the achievements of man in both Stone Age and Iron Age. It is obvious that the
discovery of iron took place during the Iron Age and not Stone Age.

Item (v) required the candidates to identify the place where people painted and
drew in the caves. The correct answer was C, “Kondoa Irangi”. This was chosen
by the candidates who had adequate knowledge of historical sites. Other
distractors A, “Sofala”; B, “Karagwe”; D, “Tabora” and E, “Bagamoyo” were
chosen by the candidates, but they were irrelevant. Those candidates were likely
referring to pre-colonial trading centres (Sofala, Tabora and Bagamoyo) while
Karagwe was chosen by the candidates because it was famous in iron technology
and feudal relations (Nyarubanja). Thus, failure of those candidates to identify
the correct answer might be attributed to lack of knowledge about some of the
historical sites in Tanzania.

Item (vi) required the candidates to identify the factor that disturbed the trade
contacts between East Africa and Asia in the 16" century. The correct answer
was E, “Portuguese invasion”. The candidates, who had adequate knowledge on
the aims of Portuguese explorations in Africa and the effects thereof, were able to
identify the correct response. Those candidates were aware of how the
Portuguese invasion along the coast of East Africa undermined trade and
destroyed much of the wealth of the East African coast. Coastal towns such as
Kilwa were attacked and destroyed, the Portuguese imposed heavy taxes to the
traders; and the Portuguese did not pay a fair price, and so the miners ceased to
search for gold. Overall, the old Indian Ocean trade was largely destroyed by the
Portuguese.

Some candidates chose alternative C, “expulsion of the Portuguese.” The choice
of this distractor indicates that those candidates lacked knowledge on the impact
and duration of the Portuguese in East Africa. Such candidates were supposed to
understand that the trade contact between East Africa and Asia were disturbed by
the Portuguese invasion in East African coast. Moreover, the Portuguese
expulsion from the East African coast took place during the 17™ century and not
during the 16™ century.



The candidates who opted for distractor A, “Berlin Conference resolutions”
lacked knowledge on both the topics of Africa and the External World and
Establishment of Colonialism. The two historical events took place at different
time frames and also they had different impact on the East African coast. The
Portuguese appeared on the East African scene between the 15" century and 17"
century whereas the Berlin conference was convened in the 19" century (from
1884 to 1885). The motives of the Portuguese were to find a sea route to India, to
spread Christianity by driving out Muslims, exploration and trade. On the other
hand, Berlin conference resolutions refer to the decisions agreed by all the
capitalist powers on how to divide the African continent peacefully among
themselves. Those 19™ century Berlin conference resolutions had nothing to do
with regard to causing the decline of the 16" century trade contact between East
Africa and Asia.

The candidates who opted for distractor B, “activities of agents of colonialism”
were not conversant with the role of explorers, missionaries and traders. The
most notable roles included identifying and securing sources of raw materials and
reliable markets for their countries’ industries, mapping routes and spreading
Christianity - these were the demands that were created by industrial capitalism.
In so doing, the agents of colonialism prepared Africa for colonization. In a
nutshell, the agents of colonialism (in the 19" century) did not play any role in
disturbing the trade contacts between East Africa and Asia during the 16"
century.

Likewise, those candidates who chose distractor D, “effects of the First World
War” lacked knowledge on the duration, aims and impact of the arrival of the
Portuguese in the East African coast. In reality, what one can deduce from such a
response is that those candidates had very limited knowledge on the historical
events that took place and how they affected East Africa socially, economically
and politically between the 15™ century and 20" century. It is surprising to find
out that some candidates did not understand that there is no link whatsoever
between the First World War that took place between 1914 and 1918 and the
Portuguese disruption of the coastal trade in the 16" century.

Item (vii) required the candidates to identify the name of the greatest ruler of
Mali. The correct response B, “Mansa Kankan Musa” was chosen by the
candidates who had adequate knowledge on the topic of Development of Social
and Political Systems. Those candidates were aware of the pre-colonial kingdoms
and their respective rulers. Hence, it was possible for them to pinpoint Mansa
Kankan Musa who reigned from 1307 to 1337 and extended the boundaries of
Mali even further and built up a more effective system of government than any of
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his predecessors. Clearly, then, Mansa Kankan Musa was a great ruler who
succeeded in establishing peace and order in Mali, in promoting trade and
commerce and above all, in making Mali known all over the world.

Distractors A, “Askia Mohammed” and E, “Suni Ali” comprised the names of
great rulers of the Songhai whereas alternative C “Osei Tutu” consisted of the
name of the ruler of Asante Empire. In that sense, the candidates who opted for
these alternatives could not relate the different rulers to their respective states due
to the little knowledge on the Western Sudanic states. Askia Mohammed and
Suni Ali were the rulers of Songhai Empire while Osei Tutu was the ruler of
Asante Empire.

Some candidates opted for distractor D, “Uthman dan Fodio”. This was the
founder of the Sokoto Caliphate. Therefore, the candidates who opted for this
alternative lacked the specific knowledge of the kingdoms and their specific
kings of pre-colonial West African kingdoms.

Item (viii) required the candidates to identify the term that comprise the making
of goods and services available for human needs. The correct answer B,
“production” was opted for by the candidates who had adequate knowledge on
social organization and production procedures.

The candidates who opted for A, “consumption” were unaware of production
patterns. In that case, they failed to know that consumption refers to the way of
buying and using things — and that it is possible after production had taken place.
Likewise, the candidates who chose option D, “interaction” failed to understand
that interaction refers to the way through which people come into contact and
have effect upon one another. In general, the choice of this distractor portrays
that the candidates were unaware of the distinction between production and
interaction.

Distractors C, “consolidation” and E, “transition” were irrelevant options hence
the candidates who chose them lacked knowledge over the subject matter. In
concluding, one may briefly assert that some candidates had limited knowledge
on some popular historical terms, and this, to the great extent, affected their
performance in some questions.

Item (ix) required candidates to identify the immediate consequence of the
development of Triangular trade. The correct response B, “Disruption of Trans-
Saharan Trade” was chosen by the candidates who were acquainted with
adequate knowledge over the major historical events that took place in pre-
colonial West Africa. With such background, these candidates could
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chronologically understand that the Trans-Saharan trade was followed by
Triangular Trade and therefore, it was a root cause for its disruption. The Trans-
Saharan Trade was conducted between the people of North Africa and those of
Western Sudan across the Sahara desert while the Triangular Trade was
conducted between Europe, Africa and the Americas (New World).

Some candidates who had limited knowledge on the topics of Africa and the
External World, Industrial Capitalism and Establishment of Colonialism, opted
for distractor C, “Scramble and partition of Africa”. The scramble for and
partition of Africa took place in the 19™ century, therefore it is wrong to consider
it as an immediate consequence of the Triangular trade of the 15" century.

Moreover, it was the development of capitalism from commercial capitalism to
industrial capitalism that eroded the triangular slave trade. Such candidates were
supposed to understand that it was industrial capitalism that gave birth to the
scramble for and partition of the African continent so as to get the new industrial
demands brought about by the industrial revolution such as the need for markets,
raw materials, areas for investment, areas for cheap labour, and areas for
settlement. Therefore, logically, the scramble for and partition of the African
continent was not the immediate result of the Triangular trade.

Options A, “Decolonization of African countries”; D, “Adaptation of the Open
Door Policy”; and E, “implementation of indirect rule policy” were opted for by
the candidates who had limited knowledge on the topics of Africa and the
External World and Nationalism and Decolonization. Decolonization of the
African countries; adaptation of the Open Door policy and implementation of
indirect rule policy were not caused by the Triangular trade.

Item (x) required candidates to identify the year when America defeated her
colonial master (Britain). The correct answer was D, “1776 . This was chosen by
the candidates who had adequate knowledge of the topic of Industrial Capitalism
under the sub-topic of Abolition of Slave Trade. The American independence of
1776 is among the reasons for the abolition of slave trade. Upon attaining her
political independence in 1776, America was no longer a reliable source of raw
materials and markets for British industries and industrial manufactures
respectively

Some of the candidates who opted for A, “1873”failed to differentiate between
the historical phenomena and their respective years. The year 1873 was not
associated with American independence but rather with the year during which
slave trade was abolished in East Africa by the closure of the greatest slave

market in Zanzibar.
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Some candidates chose distractor C, “1945”. This was the year when the United
States played a decisive role to end the Second World War. Moreover, the
candidates opted for the year 1945 because it was during this time that the United
States of America emerged as one of the global super powers.

Distractor B, “1884” also attracted some candidates who failed to relate historical
events to their specific years. The choice of the year 1884 as the year of
American independence was incorrect. This choice might be attributed to the
significant historical event that took place during that year which changed the
global political platform. Such an event was the convening of the Berlin
Conference of which the United States of America attended as an observer.

However, some candidates opted for distractor E, “1918”. This was the year
when the First World War ended. This choice might be attributed to the role the
United States of America played in ensuring victory to the Allied powers against
the Central powers. In general, the candidates exhibited limited knowledge on the
topics of industrial capitalism, colonialism and global Crises.



2.2 Question 2: Matching Items

The question was composed from various topics of the syllabus. The candidates
were supposed to match each item (i — x) in List A with the correct response in
List B by writing the letter of the correct response against the item number. Each
correctly matched item carried one mark.

List A List B

(i)  An organization comprising of less | A ECOWAS
developed countries in the world. B AU

(i) A regional grouping of countries from | C FRELIMO
West Africa. D NAM

(ili)  An organization whose formation was | E UNITA
facilitated by Pan-Africanism. F OAU

(iv)  An organization which replaced the former | G SADC
Organization of African Unity. H COMESA

(v)  An economic grouping comprising of 21 | I EAC
states in east and southern Africa. J UNO

(vi)  An organization which was founded by | K SECURITY COUNCIL
Julius Nyerere, Milton Obote and Jomo | L UPC
Kenyatta. M TANU

(vil) An organization comprising of | N ZANU
independent states from all over the world. | O IMF

(viii) An organ of the United Nations formed by | P WORLD BANK
fifteen member nations. Q ILO

(ix) A famous political organization in | R UNESCO
Mozambique. S FAO

(xX) A nationalist political party heady by | T ANGLOPHONE
Julius Nyerere.

The question was attempted by 351,693 (100%) candidates. Those who scored 0
to 2 marks were 45.4 percent out of which 8.8 percent scored 0 marks, 44.2
percent scored from 3 to 6 marks, and 10.4 percent scored from 7 to 10 marks.
The performance in this question was average since 54.6 percent scored from 3 to
10 marks. Figure 2 shows the percentage of the candidates’ performance in this
question.
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Figure 2: The candidates’ performance in this question.

Item (i) required the candidates to identify the name of an organization
comprising of less developed countries in the world. The correct answer was D,
“NAM”. NAM is an acronym of Non-Aligned Movement whose principles
include: safeguarding the independence and sovereignty of member states,
fighting disarmament in the world, eradicating racism in the world and promoting
economic independence among the poor countries of the world. It was chosen by
the candidates who had adequate knowledge on the strategies taken by the less
developing countries as an alternative to membership of either the Eastern bloc or
the Western bloc. NAM was found in 1961 in Belgrade. The idea of its
foundation originated from the Bandung Conference of 1955. The movement’s
major goal was to find the neutral position of the Third World countries by
neither allying with nor being against the capitalist or communist blocs during
the Cold War era. The movement also addressed the Third World problems like
imperialism and poverty.

Most of the candidates failed in this item, by matching the item either with B,
“AU or F, “OAU.” Those candidates failed to understand the demand of the
question since instead of providing a global organization that comprises of less
developed countries they provided responses basing on the organization of the
independent African countries. Such organization does not cater for the globe as
a whole. What can be deduced from such responses is that the candidates had
limited knowledge on continental and global organizations.
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Item (ii) required the candidates to identify the name of the regional grouping of
the countries from West Africa. The correct response was A, “ECOWAS.”
Candidates with adequate knowledge about regional groupings in Africa were
able to choose the correct answer because they understood composition and
location of the grouping that comprise West African countries. Adequate
knowledge on African integrations enabled them to distinguish ECOWAS from
other given regional economic integrations. ECOWAS (Economic Cooperation
of West African States) was established in 1975 with a view of fostering
economic cooperation and alleviate West African countries from imperialist
exploitation and poverty.

Some candidates failed by choosing mostly responses G, “SADC” and H,
“COMESA”. Such candidates failed to identify the specific regions where the
asked organization belongs. In principle, SADC (Southern Africa Development
Community) was formed in 1980 with the aim of promoting development
through cooperation, to harness resources in order to enhance development and to
leverage international support within Southern African region. The community
has 15 member states. COMESA (Common Market of Eastern and Southern
Africa) is an economic grouping formed in 1994 to facilitate growth and the
development through cooperation in exploitation of available resources within
the Eastern and Southern African region. The grouping had 21 member states
from Southern African region.

Item (iii) demanded the candidates to identify the name of an organization whose
formation was facilitated by Pan-Africanism. The correct response was F,
“OAU.” This answer was arrived at by the candidates who were aware that the
formation of OAU (Organization of African Unity) is traced from the agenda of
the Pan-African Movement which aimed at awakening nationalist awareness
among the African nationalists as well as promoting unity among African states
in order to eradicate colonialism and defend African sovereignty. The
organization was formed in 1963 in Addis Ababa (Ethiopia) by 32 African states.

Most of the candidates who failed to choose the correct answer in this item were
attracted by response J, “UNO.” The reason behind this emanates from the
similarity of some of the roles of UNO and Pan-Africanism. For example, such
roles include condemnation of colonialism and supporting decolonization
campaigns. Those candidates were supposed to understand that specifically OAU
was established by the independent African states to solve African problems
whereas UNO refers to an international organization comprising of independent
states from all over the world.
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Few candidates chose D, “NAM” basically due to its much concern about
African affairs. NAM worked alongside Pan-Africanism in the struggle for
independence of African countries through which it raised concern for third
world unity to condemn colonialism and imperialism. Also its member states like
Egypt and India provided material support to overthrow colonial regimes in
Africa. Such roles must have attracted some candidates to opt for such an
incorrect response.

In item (iv), the candidates were tested to choose the name of the organization
which replaced the Organization of African Unity (OAU). The correct answer B,
“AU” was chosen by the candidates who were aware that AU (African Unity)
was transformed from the OAU to AU in 1999 in order to achieve greater unity
and solidarity among African countries. Most of the candidates were able to
identify the correct response in this item because they had adequate knowledge
since OAU and AU are inter-disciplinary topics as they are taught in History and
Civics. In addition, the issues pertaining to AU are widely discussed on different
media and platforms.

In item (v), the candidates were supposed to identify the name of an economic
grouping that comprises 21 states in East and Southern Africa. The correct
response was H, “COMESA.” Candidates with adequate knowledge about
regional groupings in Africa were able to choose the correct answer. The
candidates were aware of how the need to tackle political, social and economic
needs of the people facilitated the formation of COMESA. In a nutshell, such
candidates were conversant on how COMESA, with its 21 member states, was
designed to facilitate growth and development through cooperation in
exploitation of resources in the region.

The candidates who could not match the item correctly mostly opted for
alternative G, “SADC.” SADC stands for Southern Africa Development
Community. The choice of this distractor was caused by the candidates’ failure to
differentiate between COMESA and SADC.

Item (vi) required the candidates to identify the name of an Organization which
was founded by Julius Nyerere, Milton Obote and Jomo Kenyatta. The correct
response was |, “EAC.” This response was chosen by most of the candidates
because they were aware of the contributions and achievements of the previous
East African presidents towards the formation of regional groupings. To add, the
EAC was formed in the spirit of Pan-Africanism and its founding fathers were
strong Pan-Africanists who led the East African countries to independence. It
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was formed in 1967 with the goal towards achieving economic cooperation in
East Africa and as step for African unity.

The few candidates opted for distractor T, “TANU.” Their choice to this option is
attributed to their inability to read the question carefully. They turned their
attention to the alternative just by seeing the name of Julius Nyerere, the
prominent founder of the TANU party. Other candidates chose this alternative
due to lack of knowledge of the founders of the EAC (East African Community)

Item (vii) tested the candidates’ ability to identify the name of an international
organization comprising of independent states from all over the world. Most of
the candidates opted for the correct response J, “UNO.” The UNO is a widely
known organization in the world because it is the only worldwide international
organization that incorporates almost all countries in the world. This enabled
many candidates to easily identify it as the correct answer.

On the other hand, the candidates who failed to identify the correct answer
mostly opted for the alternatives which consisted of the organs of the UN such as
K, “Security council”; Q, “ILO”, R, “UNESCO”, S, “FAO”, O, “IMF” and P,
“World bank.” The universal nature of these organizations made some of the
candidates to believe that they are the correct answers. These candidates failed to
grasp what it meant by “an international organization comprising of independent
states from all over the world.”

Also, there were candidates who chose alternative D, “NAM.” The universal
nature of NAM must have played a role in convincing them to opt for this
alternative. NAM integrates the third world countries worldwide.

Item (viii) required the candidates to identify an organ of the United Nations
formed by fifteen member nations. The correct response was K, “SECURITY
COUNCIL.” This was chosen by the candidates who were familiar with the
organs of the UNO. By identifying the Security Council, they were able to
distinguish it from the other UN organs like Q, “ILO”, R, “UNESCO” and S,
“FAQ.” With such capability they realized that Security Council comprises of 15
member states, (five permanent and ten non- permanent members who are
appointed for two-year term by the General Assembly).

However, some of the candidates who failed to identify the correct answer opted
for alternatives Q, “ILO” or R, “UNESCO” or S, “FAO” because of being the
organs of the United Nations. This is due the fact that they have close relations
with the correct response K, “SECURITY COUNCIL.” By choosing those
alternatives, these candidates had an idea about the UN organs but they failed to

14



identify the organ formed by fifteen member nations. These candidates missed
the idea that the Security Council operated quite differently from the other organs
of the UNO. It is the only one with 15 member states. The other organs are
operated by their own special secretariats. Similarly, the other candidates opted
for alternatives O, “IMF” and P, “World Bank” which also operates under the
guidance of the United Nations.

Item (ix) tested the candidates’ knowledge to identify the famous nationalist
political organization in Mozambique. The correct response was C,
“FRELIMO.” The candidates who correctly chose this answer had sufficient
knowledge about nationalist movements in Africa, particularly in Mozambique.
They were able to identify FRELIMO (Front for the Liberation of Mozambique)
since it was the famous nationalist political party that struggled for the liberation
of Mozambique. FRELIMO was formed in 1962 by the Mozambican exiles led
by Eduardo Mondlane so as to fight against the Portuguese who colonized
Mozambique.

On the other hand, the majority of the candidates, who failed to choose the
correct answer, opted for either alternative E, “UNITA” or alternative N,
“ZANU.” UNITA was chosen by some the candidates because it is one of the
famous nationalist political parties that fought against the Portuguese colonial
rule. These candidates failed to realize that UNITA was in Angola, but not in
Mozambique. Those who chose ZANU were incorrectly attracted by the fact that
ZANU was also the famous nationalist political organization which waged armed
struggle against the colonial rule just like FRELIMO but in Zimbabwe not in
Mozambique. These candidates had little knowledge of the nationalist
movements in Africa, so they had no ability to identify location of the nationalist
political parties.

Item (X) required the candidates to identify the name of the nationalist political
party headed by Julius Nyerere. The correct response was M, “TANU.” The
majority of the candidates got this response correctly because of their adequate
knowledge about Julius Nyerere and the nationalist campaigns in Tanganyika.
Julius Nyerere mostly honored and referred to as “Mwalimu” and “Baba wa
Taifa” (Father of the Nation), who is the most known and celebrated political
figure in Tanzania. Likewise, his achievements as the head of TANU in leading
the Tanganyikans to the attainment of independence are well known by almost
the entire Tanzania public. Also, TANU is the only widely known political party
that struggled for the independence of Tanganyika. Moreover the history of
Nyerere and TANU are inseparable and recurrently discussed and celebrated on
numerous occasions like Nyerere Day (October 14) and Independence Day
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(December 9). It is one of the most common topics to the majority of Tanzanians.
All these made the majority of the candidates to choose the correct response for
the question.

On the other hand, very few candidates failed to choose the correct answer and
opted for other alternatives especially N, “ZANU.” The candidates who opted for
this response might have either searched for the correct answer hurriedly and thus
mistakenly chose that alternative or they failed to understand the demand of the
question due to the problem of language.

2.3 Question 3: Historical sketch Map and Short Answer Question

The question had two parts (a) and (b). Part (a), demanded the candidates to draw
a sketch map of Africa and locate: (i) A country in West Africa which attained
independence under the leadership of Nnandi Azikiwe; (ii) A country which
became peaceful after the death of Jonas Savimbi in 2002; (iii) A country whose
nationalist leader became her president after being imprisoned for 27 years; (iv)
German East Africa; and (v) A country in which the headquarters of the African
Union is situated. Part (b) required the candidates to outline five (5) problems
which faced Tanganyika African National Union during the struggle for
independence.

The question was attempted by all 351,693 (100%) candidates. The candidates
who scored 0 to 2.5 marks were 53.6 percent, out of whom 24.1 percent scored a
0 mark. Those candidates who scored marks ranging from 3 to 6 were 37.5
percent. The candidates who scored from 6.5 to 10 marks were 8.9 percent.

Poor map drawing skills and inability to locate the required places inhibited the
candidates to score high marks. Generally, the performance of the candidates in
this gquestion was average as 46.4 percent of them scored 3 to 10 marks. The
statistical presentation of the performance of the candidates in this question is as
shown in Figure 3.
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Figure 3 shows that majority of the candidates in this question scored
from 0 to 2.5 marks.

The candidates who scored a 0 mark could neither draw the sketch map and
locate the given positions nor outline the problems which faced Tanganyika
African National Union during the struggle for independence. Most of the
candidates in this category misinterpreted the question by drawing the sketch
maps of either Tanzania or East Africa. Some of the candidates wrote and/or
drew inappropriate and incomprehensible sentences and/or drawings as a result
they were awarded a 0 mark. For example, in part (a) some of the candidates
drew undefined objects while others in part (b) outlined the role played by TANU
in the struggle for independence and few others outlined its achievements instead
of outlining the problems it faced during the struggle for independence. Most of
the candidates in this group exhibited poor drawing skills and lack of knowledge
of the subject matter. Extracts 3.1 and 3.2 exemplify the candidates who drew
irrelevant sketch maps.
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Extract 3.1 shows an incorrect response given by one of the
candidates who misinterpreted the question by drawing the
sketch map of Tanzania instead of that of Africa.
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Extract 3.2: A response of one of the candidates who drew undefined
object instead of the sketch map of Africa.

However, a few number of candidates who could draw meaningful sketch maps
located few positions or outline few problems which faced TANU during the
struggle for independence scored 0.5 to 2.5 marks. In comparison, most of the
candidates in this category obtained some marks from part (b), when compared to
part (a). Some of the typical characteristics of the candidates’ responses in this
category are as follows: some of the candidates drew the required sketch maps of
Africa accurately and managed to locate few required places correctly; others
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outlined few problems which faced TANU during the struggle for independence.
Some of the candidates skipped part (a) and outlined few correct responses in
part (b).

The majority of the candidates who scored from 3 to 6 marks could draw the
sketch map of Africa and locate on it few of the required places. Some of the
candidates outlined two or more relevant problems which faced TANU during
the struggle for independence. However, the majority of the candidates in this
category put much effort on part (b) due to their inability in drawing and locating.

The candidates who scored from 6.5 to 10 marks were 31,274 (8.9%). Out of
these only 1,126 (0.3%) scored all 10 marks in this question. Generally, the
candidates in this category showed greater mastery of the subject matter and they
understood the demand of the question. The candidates, who scored all 10 marks
allotted to this question, could interpret the question correctly, draw the sketch
map accurately and locate the required places such as: (i) Nigeria, (ii) Angola,
(iii) South Africa, (iv) Tanganyika and (v) Ethiopia. On top of that, they were
able to outline exhaustively five problems which faced TANU during the struggle
for independence. Extract 3.3 shows the relevant response of one of the
candidates who answered the question well by drawing the sketch map of Africa
and locating the required places appropriately.
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Extract 3.3: A relevant response given by the candidate who managed to draw
the required sketch map of Africa and located the required places with great
accuracy.

2.4 Question 4: Short Answer Question

This question had two (2) parts: (a) and (b). Part (a) required the candidates to
arrange the given historical statements (i-v) in chronological order by writing
numbers 1 to 5 beside the respective item numbers. The statements were: (i)
Portuguese were expelled from the Fort Jesus, (ii) Vasco Da Gama reaches East
Africa, (iii) Bartholomew Diaz reaches the Cape of Good Hope, (iv) Tanganyika
becomes a mandate colony under the British, (v) Britain becomes the first nation
to undergo industrialization. Part (b) was based on several topics of the syllabus
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and it required the candidates to identify the missing sentence by writing its letter
beside the item number.

This question was attempted by all 351,693 (100%) candidates. The candidates
who scored from 0 to 2.5 marks were 35.4 percent, out of whom 5.3 percent
scored a 0 mark. Those who scored from 3 to 6 were 51.3 percent. The
candidates who scored from 7 to 10 marks were 13.3 percent. From this statistical
analysis the performance of the candidates in this question was good, as 64.6
percent of the candidates scored from 3 to 10 marks. Figure 4 presents the
candidates’ performance in this question.

Scores
m0.0-20
03.0-6.0
m7.0-10.0

Figure 4: The candidates’ performance in question 4.

The candidates who scored a 0 mark could neither arrange the statements
chronologically nor identify the missing sentences. For example, some of them
copied questions from the question paper and presented them as answers to the
question while others provided irrelevant responses. Such incorrect responses
indicate candidates’ lack of knowledge, failure to identify the demand of the
question as well as failure to abide by the given instructions.

The majority of candidates who scored from 0.5 to 2.5 marks either managed to
arrange few statements chronologically or were able to identify few missing
sentences. Part (a) which required the candidates to arrange the statements
chronologically, was the most challenging to most of the candidates who lacked
or had limited knowledge about the subject matter. Majority of the candidates
scored more marks in part (b) compared to part (a) basically due to the nature of
the items.

The candidates with moderate scores, ranging from 3 to 6.5 marks, could arrange
chronologically some of the statements in part (a). In part (b), they managed to
identify some few missing sentences correctly.
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Of all the candidates who scored 7 to 10 marks, only 3,716 (1.1%) were able to
score all the 10 marks allotted to this question. Those candidates exhibited
greater ability to arrange the sentences chronologically as well as identifying the
missing statements. This was possible because those candidates had sufficient
knowledge about the subject matter and on top of that they were conversant with
the demands of the question.

2.5 Question 5: Essay question.

This question was based on the topic “Sources and Importance of History”. It
required the candidates (in six points), to explain the importance of Museums to
national development.

The question was attempted by 179,890 (51.1%) candidates. The candidates who
scored from 0 to 5.5 marks were 38 percent of which 7 percent scored a 0 mark.
Marks ranging from 6 to 12.5 were scored by 57.2 percent of the candidates and
only 4.8 percent of the candidates scored marks ranging from 13 to 20. The
overall performance of the candidates in this question was average since 62
percent of the candidates scored from 6 to 20 marks. Figure 5 presents the
candidates’ performance in this question.

4.8%

Scores

m0.0-55
06.0-12.5
m13.0-20.0

\ 57.2%

g

Figure 5: Performance of candidates in question 5.

The candidates with a 0 score failed due to lack of knowledge of the subject
matter as well as failure to understand the demands of the question. Some
candidates mentioned the areas/ places where museums are found in Tanzania
instead of explaining their importance to national development. Other candidates,
who scored a 0 mark, explained the methods through which historical events are
dated or chronologically presented.
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Other candidates went beyond the topic by relating their responses to the
evolution of man or importance of iron technology. In addition, some of the
candidates misconceived the term “national development” with nationalism.
Therefore, they based their explanations on the importance of nationalism. Worse
enough, there were candidates who just copied the question without giving any
explanations. All of these inadequacies indicate that the candidates were unaware
of the importance of the sources of historical information. Extract 5.1 is an
example of a response that was irrelevant in this question.
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Extract 5.1: An irrelevant response given by the candidate who gave the
examples of Museums in Tanzania instead of explaining the importance
of museums to national development.
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The candidates who scored from 0.5 to 5.5 marks exhibited different strengths
and weaknesses in their responses. For example, some outlined few correct points
without giving relevant explanations; few candidates only scored a mark from the
introduction by giving the meaning of the term Museum. Some candidates, who
scored 0.5 marks, gave partial explanations. In general, candidates in this
category exhibited little subject matter mastery.

The candidates who scored from 6 to 12.5 marks had shown some strengths and
weaknesses. Some of such candidates’ responses’ strengths include showing the
better understanding of the demands of the question by providing relevant points
and relating those points to the importance of the museums along with concrete
examples. Their weaknesses include provision of partial explanations in some
points, repetitions of some points and giving irrelevant examples. For example,
some candidates who repeated some points wrote; museums preserve historical
information of a country and museums can provide information of the past of a
country in two separate paragraphs as if they are two different points. Also, some
of the candidates in their explanations included the points related to the
importance of history or oral traditions. These weaknesses were due to partial
knowledge on the roles the museums play in facilitating the development of the
country.

On the other hand, the candidates who scored from 13 to 20 marks were 4.8
percent. Of such candidates, only 46 (0.01%) candidates scored from 18 to 20
marks. Top marks scorers had the following strengths: perfect interpretation of
the demand of the question, provision of detailed explanations with factual
examples, clarity of the explanations and coherence of points on the importance
of museums to national development. Overall, they explained on the usefulness
of museums in preserving historical information. Also, they explained how
museums can become sources of national income. Other points provided by those
candidates were ‘creation of employment and their role in education and
research’. Extract 5.2 shows a sample of an appropriate answer.
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Extract 5.2 shows the candidate’s relevant response supported with examples.

2.6 Question 6: Essay Question

The question was set from the topic “Establishment of colonialism”. 1t required

the candidates to examine six effects of Majimaji uprising in Tanganyika. It was
attempted by 313,120 (89%) candidates. The candidates who scored from 0 to 5.5
marks were 44.1 percent, of which 5 percent scored a 0 mark. The percentage of
the candidates who scored from 6 to 12.5 marks was 52, while those who scored
from 13 to 19.5 marks were 3.9 percent. From this statistical analysis, it can be
concluded that the performance of the candidates in this question was average
since 55.9 percent of the candidates scored from 6 to 19.5 marks. Figure 6 shows

the performance of the candidates in this question.
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Figure 6: The candidates’ performance in question 6.

The candidates who scored a 0 mark, either failed to understand the demands of
the question or lacked knowledge of the Majimaji uprising and its effects. Some
of them provided the reasons for its causes, while others explained the reasons
why Majimaji uprising failed in its mission of uprooting the German colonial rule
in Tanganyika. To extremes, few candidates explained the factors for African
nationalism. Extract 6.1 is a typical example of such cases.
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Extract 6.1 An incorrect response given by one of the candidates who
misunderstood the question and he/she explained the factors for the
people in southern Tanganyika to resist colonial economy instead of
explaining the effects of Majimaji uprising.
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Likewise, the candidates who had little knowledge and partial understanding of
the demands of the question scored from 0.5 to 5.5 marks. Those candidates
portrayed the following weaknesses:- giving responses in an outline form without
any explanations; providing few points which also lacked adequate explanations;
giving partial explanations, and inclusion of unrelated examples from other
resistances such as Abushiri and Bwana Heri, Mkwawa and Chimurenga
resistances. Few candidates managed to score a mark from the introductory part
only. The performance of the majority of candidates in this category was
inhibited by poor English language proficiency.

The candidates who scored from 6 to 12.5 marks illustrated moderate
interpretation of the question and were able to give a number of relevant points
with reasonable explanations. These candidates had relatively sufficient
knowledge about Majimaji uprising and its effects. Some of the observable
strengths of the candidate’ responses in this category were as follows:- they gave
relevant introduction, they provided relevant points with specific explanations
and examples on the effects of Majimaji uprising and they gave relevant
conclusion. On the other hand, they had some weaknesses that limited them to
score beyond this range. Such limitations include: lack of clarity and relevant
examples in some of the points, provision of points basing on the general effects
of anti-colonial resistances in Africa due to scarcity of specific examples on the
Majimaji uprising in some of their points.

Some of the candidates scored high (from 13 to 19.5) marks because of their
ability in examining the effects of Majimaji uprising. They gave appropriate
points such as: the Germans changed their administrative strategy for they
softened their harsh attitude towards Africans, the Germans gave traditional
chiefs more authority, there was great loss of many lives, and there was
displacement of people and widespread famine. Furthermore, their arguments
were characterized by varied clarities and comprehensiveness - and those were
the yardsticks that brought differences and variations in their scores. Extract 6.2
is an example of a relevant answer in this question.
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Extract 6.2 A response given by the candidate who was able to explain how
the Majimaji uprising affected the people in Tanganyika.

2.7 Question 7: Essay Question

The question was set from the topic “Colonial Economy”. It required the
candidates to assess six main features of colonial trade and commerce in Africa.
This was the least attempted question as only 68,826 (19.6%) candidates opted
for it. Many candidates skipped the question because the candidates were
unaware of the main features of colonial trade and commerce in Africa. Such
unawareness was brought about by the lack of knowledge about colonial
economy. The percentage of the candidates who scored from 0 to 5.5 marks was
84.3. Out of these 34.6 percent scored a 0 mark. The percentage of those who
scored from 6 to 12.5 marks was 14.8 while that of the candidates who scored
from 13 to 19 marks was 0.9. The overall performance in this question was weak
as only 15.7 percent scored from 6 to 19 marks. Figure 7 presents the candidates’
performance in this question.
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Scores
m0.0-55
06.0-12.5
m13.0-19.0

0.9%

Figure 7 shows that majority of the candidates (84.3%) scored poorly
in question 7.

The candidates who scored a 0 mark misinterpreted the question and lacked the
knowledge of colonial economy in general and colonial trade in particular. As a
result of misinterpretation, some of the candidates gave the objectives of colonial
economy or the strategies that were used by the colonialists in the process of
establishing colonial economy. Others provided either the reasons for the
colonization of Africa or the features of colonial social services especially
colonial education while some of them gave the features of pre-colonial trade.
This total deviation of the candidates from the requirements of the question made
them to score a 0 mark. Extract 7.1 is an example of these cases.
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Extract 7.1: A response provided by one of the candidates who explained
the features of colonial education instead of explaining the
characteristics of colonial trade and commerce.
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Furthermore, the candidates who scored from 0.5 to 5.5 marks mostly scored a
mark/some marks from the introduction in which they defined trade and
commerce or they gave few correct points with a bit of explanations. These
portrayed little understanding of the demands of the question. Some of them only
managed to outline few points without any kind of explanations. Also, others
gave correct introduction, but in the main body they deviated from the demand of
the question by giving the features or effects of various colonial economic sectors
like agriculture, mining, transport and communication.

The candidates who scored from 6 to 12.5 marks provided some correct features
of colonial trade and commerce with relevant supporting explanations and correct
examples in some of the points. Those candidates could not score more than 12.5
marks because of repetition of some of the points, lack of clarity and coherence
in their explanations as well as lack of specific examples.

Few candidates who managed to score from 13 to 19 marks displayed greater
mastery of the subject matter. They gave genuine and detailed explanations
supported with relevant examples. Their arguments were built on points such as:
colonial trade and commerce were dependent on the metropolitan states, they
were associated with the use of force on the Africans, they lacked linkage
between colonies and they were monopolized by the colonizing powers. The
candidates in this category understood the demands of the question. Extract 7.2 is
the response from the script of the candidate who belonged to this category.
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Extract 7.2 A response of the candidate who was able to assess main
features of colonial trade and commerce in Africa.
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2.8 Question 8: Essay Question

This question was derived from the topic “Africa and the External World”. It
demanded the candidates to discuss the statement, “East Africa was affected by
the coming of Oman rulers in Zanzibar from 1840s”. The question was attempted
by 84,366 (24%). In this question 38 percent of the candidates scored from 0 to
5.5 marks. Out of this 6.6 percent scored a 0 mark. The percentage of the
candidates who scored from 6 to 12.5 marks was 53.1 while those who scored
from 13 to 19.5 marks were 8.9 percent. From this statistical analysis the
performance of the candidates in this question was average since 62 percent
scored from 6 to 19.5 marks. Figure 8 shows the categories of candidates’
performance in this question.

Scores
m0.0-55

06.0-125
@13.0-195

Figure 8 shows that majority of the candidates performed averagely in this
guestion.

The candidates, who scored a 0 mark, some misinterpreted the question and some
lacked knowledge about the subject matter. With this misinterpretation, some of
the candidates provided the reasons for the shift of Seyyid Said’s capital from
Muscat (Oman) to Zanzibar. The extreme misinterpretation was exhibited by
some of the candidates who gave the effects of the 1964 Zanzibar Revolution.
Such misconception might have been caused by the candidates’ limited
knowledge in the subject matter or their hurry in reading the question, something
that eroded their ability in grasping the question task. Extract 8.1 shows a sample
of an irrelevant response from the script of the candidate who failed to
understand the requirements of the question.
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Extract 8.1: A response provided by one of the candidates who explained
the reasons for the shift of Sultan Seyyid Said’s capital from Muscat (Oman)
to Zanzibar instead of discussing the effects of the coming of Oman rulers in

Zanzibar.

43



On the other hand, the majority of candidates who scored from 0.5 to 5.5 marks
were those who gave the reasons for the shift of Seyyid Said’s capital from
Muscat (Oman) to Zanzibar, provided general effects of the coming of outsiders,
outlined few points without relevant supporting explanations and repeated a
number of points. Majority of such candidates could score a mark from the
introduction only. Such weaknesses inhibited such candidates to score high marks.
These were the result of lack of sufficient mastery of the subject matter as well as
limited English language proficiency.

Furthermore, some of the candidates who scored from 6 to 12.5 marks displayed
the abilities of correctly interpreting the demands of the question, providing
relevant supporting explanations in a number of points and giving correct
examples in some points. Nonetheless, the few weaknesses observed included
failure to discuss the required six points, repetition of some points, failure to
provide all six points and insufficient explanations which also lacked enough
relevant examples in some points. The differences in their scores were brought by
variation in the clarity and coherence of each candidate’s response.

However, the candidates who scored from 13 to 19.5 marks understood the
demand of the question. They discussed into detail the effects of the coming of
Oman rulers in Zanzibar and supported their arguments with concrete examples.
For example, they gave explanations on how their coming facilitated the growth
of Kiswahili language and spread of Islamic religion and Arab culture.
Moreover, they explained how their arrival facilitated the introduction of new
crops such as cloves and coconut and confiscation of land of the Waamidu and
Watumbatu.

The differences in their scores were the result of the ability of each candidate to
provide detailed explanations and concrete examples. Extract 8.2 is a good
illustration of a well presented work for this question.
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Extract 8.2 exhibits a response given by the candidate who showed great
competence in discussing how East Africa was affected by the coming of
Oman rulers in Zanzibar from the 1840s.
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2.9 Question 9: Essay Question

The question was derived from the topic “Africa in International Affairs”. It
required the candidates to assess six problems facing the current East African
Community (with concrete examples). The question was attempted by 119,588
(34%) candidates. The percentage of the candidates who scored from 0 to 5.5 was
60.4. Out of this 8.9 percent scored a 0 mark. The candidates who scored from 6
to 12.5 marks were 37.1 percent while those who scored from 13 to 19 marks
were 2.5 percent. The overall performance in this question was average since
39.6 percent of the candidates scored from 6 to 19 marks. Figure 9 illustrates the
categories of the candidates’ performance in this question.

2.5%

Scores
m0.0-55
06.0-125
m13.0-19.0

Figure 9 shows that majority of the candidates (60.4%) scored from 0 to 5.5
marks in this question.

The candidates who scored a 0 mark failed to understand the requirements of the
question due to lack of English language proficiency. They also lacked the
knowledge of the subject matter. The points given by the candidates in this
category were absolutely contrary to the demands of the question. For example,
some of them gave the achievements of the East African community while others
provided the brief history of the East African countries. Thus, with this type of
responses, these candidates ended up scoring a 0 mark.

Likewise, the candidates who scored from 0.5 to 5.5 marks mostly responded by
giving partial introduction, providing few points with insufficient explanations or
repeating some of the points. Some of the candidates responded by giving the
general problems facing African countries. However, they could score some
marks from the points that matched with the problems faced by the current East
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African Community. Such points included; political instabilities, natural
calamities and diseases. Extract 9.1 is an example of the response from the script
of the candidate who scored a 0 mark in this question.
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Extract 9.1: A response given by the candidate who provided the
problems faced by Africans during the colonial period instead of
problems facing the current East African Community.
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In contrast, some of the candidates who scored from 6 to 12.5 marks were able to
give some points with few details and vivid examples. The responses of such
candidates bore some accurate explanations that enabled them to score the marks
within this range. Nevertheless, the candidates in this category also had some
weaknesses ranging from giving irrelevant examples to providing few points
contrary to the demands of this question. Some of the candidates provided the
war between Tanzania and Uganda as one of the problems facing the current East
African Community. The war between Tanzania and Uganda (from 1978 to
1979) played a great role in shaking and ultimately uprooting the former East
African Community from surviving. In actual fact, those candidates failed to
identify the time between the former and current East African Community.

Furthermore, some of the candidates scored from 13 to 19 marks. Those
candidates provided relevant points with exhaustive explanations which were
well supported with genuine and concrete examples. Their responses had clear
and comprehensive arguments and examples about the problems encountered by
the current East African Community. They gave the following problems that face
the current East African Community:- bilateral issues involving different member
states, political instabilities like in South Sudan and Burundi, the issue of
terrorism, membership in other regional organizations, language barrier and
natural calamities. The differences in their scores resulted from the varied
abilities among the candidates in providing strong and elaborative arguments and
concrete examples. Extract 9.2 portrays an example of a response of the
candidate who had a well elaborated answer.
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Extract 9.2: A relevant response from one of the candidates who

understood the question and displayed great ability in assessing problems
facing the current East African Community.
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2.10 Question 10: Essay Question

The question was set from the topic “Interactions among the People of Africa”.
The candidates were required to assess six effects of economic interactions
among the people of Africa during the pre-colonial period. The question was
attempted by 216,188 (61.5%) candidates. The percentage of the candidates who
scored from O to 5.5 marks was 61.8. Out of this 12.1 percent scored a 0 mark.
The percentage of those who scored from 6 to 12.5 marks was 35.2 while only 3
percent scored from 13 to 19.5 marks. This statistical analysis shows that the
performance of the candidates in this question was average since 38.2 percent
scored from 6 to 19.5 marks. Figure 10 shows the percentages of the candidates’
performance in this question.

3.0%

Scores

m0.0-55
06.0-125
E13.0-19.5

Figure 10 shows that majority of the candidates scored low marks in this question.

The candidates who scored a 0 mark misinterpreted the demands of the question.
They also lacked knowledge of economic interactions among the people of
Africa. As a result of this misinterpretation, some of them gave the factors and
effects of economic integrations instead of economic interaction. This could be
due to either lack of proficiency in English language or reading the question
hastily without concentration. Some candidates gave responses which had no any
relationship with the demands of the question. For example, they gave
explanations on: modes of production such as communal, slave and feudal modes
of production, different economic activities such as agriculture, mining, industry
and iron works; and different practices of the colonialists during the colonial
period. With these responses, they ended up scoring a 0 mark. Extract 10.1
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illustrates an example of irrelevant response given by one of the candidates in
this question.
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Extract 10.1: An irrelevant response from the candidate who explained
the methods used by colonialists in establishing colonial economy instead
of assessing effects of economic interaction among the people of Africa
during the pre-colonial period.
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In a similar way, some candidates scored from 0.5 to 5.5 marks. These candidates
had some weaknesses and little strength. Some of them scored 0.5 marks or 1
mark from introduction while others either mentioned few points without giving
explanations or provided some points with partial explanations. Also, this
category consisted of candidates who repeated some points. Such shortcomings
prevented them from scoring high marks.

On the other hand, some candidates managed to score from 6 to 12.5 marks.
Those candidates gave more elaborated explanations with relevant examples. The
majority of candidates in this category could not score higher marks because they
failed to provide comprehensive and detailed explanations and specific examples.

However, the candidates who scored from 13 to 19.5 marks had adequate
understanding of the demands of the question. They were able to give more
comprehensive and detailed explanations on the points like: promotion of trade
activities, development of trade routes, development of towns and market centres,
development of technology and emergence of classes of wealthy people who
monopolized trade. The variations in their scores were caused by differences in
their abilities in elaborating and supporting the explanations with detailed
historical facts and concrete examples. Extract 10.2 portrays an example of the
response given by the candidate who had a well elaborated answer.
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Extract 10.2: A relevant response of one of the candidates who
exhibited great competence in assessing the effects of economic
interactions among the people of Africa during the pre-colonial
period.

60




3.0

4.0

CANDIDATES’ PERFORMANCE IN EACH TOPIC

Statistical analysis of the candidates’ performance in this paper shows that two
objective questions 1 and 4 set from different topics of the syllabus had good
performance. The highest performance was that of question 1 in which the
candidates’ performance was 88.5 percent. The second highest performance was
in question 4 where candidates’ performance was 65 percent. Overall, good
performance in those questions was the result of the candidates’ sufficient
knowledge in the tested topics, good English language proficiency, and
candidates’ ability to understand the requirements of the questions.

Majority of the questions had an average performance. The highest percentage in
this category was observed in questions 5 and 8 in which both had 62 percent.
The lowest performance was observed in questions 9 and 10 with 39.6 and 38.2
percent respectively.

Of all the questions, it was question 7 (essay type question) derived from the
topic of Colonial Economy that the candidates had a weak performance. In this
question the candidates who scored 6 marks and above were 15.7% percent (see
Appendix).

In a nutshell, the candidates’ weak performance in this question was caused by
candidates’ inadequate knowledge on the subject matter, the candidates’ failure
to correctly interpret and identify the demands of the question, the candidates’
poor essay writing skills and lack of English language proficiency.

CONCLUSION

The candidates’ performance in the History examination (CSEE 2018) was
average, since 57.29 percent of the candidates passed. Most of those candidates
had good performance in questions 1 and 4. This good performance was an
outcome of adequate knowledge of the subject matter, good English language
proficiency and adequate understanding of the requirements of the questions. The
average performance was observed in questions 2, 3, 5, 6, 8, 9, and 10. This
average performance was due to candidates’ moderate knowledge of the subject
matter, moderate English language proficiency and moderate drawing skills. On
the other hand, question 7 was the only question in which the candidates had
weak performance. This weak performance resulted from inadequate knowledge
of the candidates in the subject matter, failure to identify the demands of the
question, poor English language proficiency and lack of good essay writing
skills.
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5.0 RECOMMENDATIONS

In order to improve the performance of the candidates in this subject, the
following are recommended:

(@)

(b)

(©)

(d)

(€)

(f)

Learning and teaching processes should be improved in all the topics
especially the ones with weak performance.

Teachers should provide enough exercises to the students so as to enforce
the understanding of the subject matter and skills of answering questions.
For example, teachers should build the culture of interpreting key words or
instructional words to the students during classroom sessions.

Teachers should apply appropriate teaching techniques that will increase
students’ morale in the learning process so as to help them develop critical
thinking and skills.

Teachers should work hard to accomplish the syllabus as early as possible
in order to get enough time for revision so as to effectively prepare their
students for the Certificate of Secondary Education Examinations.

More serious measures should be undertaken by teachers and other
stakeholders in encouraging students to learn English language. This will
help them in understanding the requirements of the questions as well as
acquiring expressive abilities.

Stakeholders should organize seminars so as to equip teachers with more
knowledge and new teaching skills.
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Appendix

Average % of

. Number of Candidates Remark
SIN Topic Questions who Scored s
30 Marks and
above

Sources and importance of

3 | History 5 62 Average
Africa and the External World

4 8 62 Average
Establishment of Colonialism

5 6 55.9 Average

6 MatF:hlng ltems From Various 2 s Average
Topics

7 | Nationalism and Decolonization 3 46.4 Average

8 | Africa in International Affairs 9 39.6 Average

9 Interactions Among the People 10 38.2 FETEGE

of Africa
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